o4 Wl

[#REtET IV EHER] 1EERER

B 1) % FHtH

o p.24, HfEDA

b l_t_rv B (fv—u)Z] i

= exp . W ex o 20_2
t? 1 (z — p+ ot)?
= exp 5 /Oo Wexp [ 52 dx
12
= exp 5}
tX t
=my(t)=F (exp [— - ﬂ—])
o o
AN ! tr (v —p)? q
=exp | — — exp | — — x
Pl o V2102 Plo 202
t? / 1 (x — p — ot)? g
=exp | = ex x
P L 2 50 \/27{0‘2 P 20'2
42
= exp _5i|
p.35, (1.27) &
1 1
mx(t) = exp {tTu + §MTZN] = my(t) =exp [tTu + étTEt}

p52, KM25DF ¥ 7 avBIUOAIX IS 317H

p.112,

7 1 35 7 135
N(E =2 N
(2’\/512) ~ (2 12)

DA 4.5 2547 H

xx <- seq(0,5,length=101)) = xx <- seq(0,5,length=101)
pw23058$@405@ﬁ

UQ%ﬁNndQV@D

x()jx(erl)

p.154, 1317H
Im? = kp(l—p)d = I =kp;(1—p)d

p.154, 15,16 17 H

V(Y) = {1+ k(n — D}nipa(1— p)

= o*n;u(l — p)

= V(i) = {1+ &(n; — 1)}nipi(1 — p;)

= UQ”iPi(l - pi)

1



e p.155, 147H
FX2, nhtoRkEnweE~HonTWb] O—X%HIK

e p.187, YA L 7.2, 617H
fit <- normalmixEM(x, 2) = fit <- normalmixEM(acidity, 2)

e p.193, MH 1.1 D%
BXEIRD & SIZELE.

2 IHI3 A1 B(n, p) (T4 D MERL X OIAfHE, HEEENEN E(X) =np, V(X) =
np(l—p) THEH156, n=10,p=06RBdILhbhr%. £->7T, B(10,0.6) D
ERBIB Z WD Z & TRIEREZRDDE ZEHTES.

(1) Pr(X = 0) = 10C) x (0.6)° x (0.4)1° ~ 1.05 x 104,

(2) PI'(X < 2) = 1000 X (06)0 X (04)10 + 1001 X (06)1 X (04)9 + 1002 X (06)2 X
(0.4)% ~ 1.22 x 1072,

(3) BEBLHERER THDH I L L (2) &b,
Pr(X >3)=1—-Pr(X <2)~0.9877.

e p.198, M 6.3 DRE
WDy = W-1Dx!




RN B T B8k

e p.17. FH1 5 447H
Frz oL, ) = T2, a> 012U Tl

o p.21, FEFHD HE D A
etx a et:c b
La)—a)]b - L(b—wL

p.24, R 5 547HE 647H (2 5 7)

ol 2]l

2 2

p.35, EHE 1.12 DFEHHD FZ DT
Fu = (uy,...,u)T =t7820 = Tu=(uy,...,u)" = S2t)

p.43, (2.4) R& ZDEFHEDTT, BLT(25) K
r10)) = I1,(0)

p.43, 25 64T7HDRA

p.43, "5 5 547H

THRD LD Z ERFSNTVS.S = IBKD DI EAHSNTWS. ~EL,
1(6) W 1 D DB X ST B 7 19 > v i 1(0) = E | (3 1og /(X:0))°] T
554

p.45, 6 fTHD X
[1(6) 10 = T1,(0))

p.45, 747H
rr(e)) = r1,(6)J

p.A45, 1047 H
ths.]=0ThHs. £/, LO)IZ1D2DEM X 12T E7 1y ¥ v —IHHE
1(0) = E | & log f(X:0) 2 log £(X; 9)] TH5.)

p.45, 11 fTHDO RO A
r1(0)) = I1,(0)J

p.55, #ill 2.4 DE1E D FiHA

TEWEE 95%CTHY ) v 1L H7- 0 HETH 28.58km 1FE D, HE T 30.84km £ 5
WIESL Z eI NS =

AV VY 1L &7 0 TENDEHIXEEE 95%T 28.58km 7* & 30.84km 124 £ 1
52 RIS




p.66, T2 5 7T47H
2 ODIEADFEYD %% KT 57-D12) =
F2 DDOREMDFH D% % i3 5 72012 ]

p.79, 317 HD&AU

n 2 n n
E T —ng x12:>5 x?—ni:Q
i=1 i=1 i=1

p.79, 4 11 H D &A1

(Z xz> (Z yi) -n Z Y = Z TiYi — nTY
=1 =1 i=1

i=1

p.82, 6 fTHDH 2 A

1 N 1
202 o2
p.82, TATHDH 2 X
Py — (G + miB) Y
TS T T g Wi T L5
o2 ' (02)? Y 0 1

1 n
= —%‘2 + W ;{yz — (Bo + lﬁiﬁl)}Q

p.90, "5 10417H
FBLHME 4o = By + Brxo + o DEFHEXMIZOWTEEZ L S.]
= [EHE yo = Bo + Bizo + e ICPWTHRABD I L 2 EZXTAL D]

p.95, X 4.10
2ARDIKE DR (e, r) DFHHM

p.97, 124THDH 2 A

1 1

202 o2

p.104, R 6 217H Y0 —XD C, HHEDE 2 15

2{2(p+1)—n}=2(p+1)—n

p.106, (4.25) RDOH RS & OIRDTF
rn—(p-1)J = Th-p-1J




e p.131, THTHB LU 84T H

Yu Yu
Yoy =1 : = Yo =1 :
n(L—1)x1 Yni nx1 Yni
1 711
Ty = = T =
n(L—1)x1 T nx1 T

p.131, T2 5 247 HDH 1 XA

p.150, 547 H

'w = diag{1/\i, ..

p.151, 11 17 H

p.151, 1217 H

X"My-7) = X'My-m)

S/ = W =diag{)\, ..., A}

(551 HTHHH-7-] = 541 HTHHF - 721
p.151, TS5 6 THB XU R 5 217HDA

p.153, N5 447H

cV(B)CT = nCV(B)CT

lTEm(Ni) =nmpid = lTEm(/M) = pid
p.154, (6.11) XD mED 317

= ni{p— (72 + p?)} +nir? = ni{pi — (7° +pj)} +nir?
= nu(l —p)+ni(n; — 7% = = npi(1—p;) +ni(n; — )72
> nipu(l—p) > npi(1 —pi).

p.154, ¥ 5 317H




p.155, (6.15) X V(Y;) D 216

1
v k) = L(1+])
v v v v

p.156, F0 58, 947H (§f 2 2A)

D158, % 6.3 FEBLLLE Qs y) D BRI D 2 I8
k) = Tr)
p.160, 1 17H

n )2 n C A.)2
X2 — (ys _ i) — X2 — (yi — fui
’ ; v(fis)? ’ ; v((fii)
p.193, 1.1 D%
p=04TIFH< p=06. THIE, BEEZRD LB BIE.

(1) PI"(X = O) =15 00(06)0 X (04)15 ~ 1.07 x 1076,

(2) PI'(X S 2) =15 00(06)0 X (04)15 +15 01(06)1 X (04)14 “+15 CQ<O6)2 X (04)13
~ 2.79 x 1074

(3) BEBIUMERZTHDZ L L (2) &b,

Pr(X >3)=1-Pr(X <2)~0.9997.

p.194, 1.5 (2) D%

1fTHO®RAE  Tdr) = Tdy)
SITHO®RAA  Tdx) = Tdyl
SITHDE 2N mfkiz Tdy) ZEM

p.196, 4.3 DFRZE
g & ERIAEITHENT = Ty B IERIIIAEITHEN]
Fﬁo + izl = rﬁo + Brxol (2 f& Flr)

p.198~199, 6.5 DfFEE

217H  ®f&IC Tdz) %380
p.198 DEAEDIT L p.199 DI DT [T(y; + )] = TT(y; +p)) (2 2AT)

p.199, 7.1 DR
2DOHDA (0? TOWG) DOHF 2% 1/2 4%

p.199, 7.3 DR
2fTHOED  [%51 = ;5]
E7z, 217HOH 2 X% 1/2 %




